

$g'(a) = \underbrace{(\tan^2 a + \sqrt{r} \cos a)}_{(1)} f'(\underbrace{\tan^2 a + \sqrt{r} \cos a})_{(2)}$

 خطیاتی - ۱۲ و ۱۳
۱۹۵
 ①

① → $r \tan a (1 + \tan^2 a) - \sqrt{r} \sin a \xrightarrow{a = \frac{\pi}{4}} r(r) - 1 = r$

② → $\tan^2 a + \sqrt{r} \cos a \xrightarrow{a = \frac{\pi}{4}} 1 + 1 = r$

$g'(\frac{\pi}{4}) = \sqrt{r}$

 $r f'(r) = \sqrt{r}$

 $f'(r) = \frac{\sqrt{r}}{r}$
(۲)

$f'(\frac{\sqrt{r}}{4}) - r g'(\frac{\sqrt{r}}{4}) \rightarrow (f - rg)'(\frac{\sqrt{r}}{4}) \rightarrow f - rg = \frac{1 + \cos^2 a}{\varepsilon - \cos^2 a} - \frac{\varepsilon}{r - \cos a}$
(۲)

$\frac{(r + \cos a)(\varepsilon + \cos a - r \cos a)}{(r - \cos a)(r + \cos a)} - \frac{\varepsilon}{r - \cos a} \rightarrow \frac{\varepsilon + \cos^2 a - r \cos a - \varepsilon}{r - \cos a}$
(۲)

$\rightarrow \frac{\cos a (\cos a - r)}{r - \cos a} = -\cos a \xrightarrow{\lim_{a \rightarrow \frac{\pi}{4}}} + \sin a \xrightarrow{a = \frac{\pi}{4}} \sin \frac{\pi}{4} = \frac{1}{\sqrt{2}}$
(۲)

$\begin{cases} (\varepsilon a - r) \sqrt{a a} & a \geq \frac{r}{\varepsilon} \\ (-\varepsilon a + r) \sqrt{a a} & a < \frac{r}{\varepsilon} \end{cases}$

 $f'(\frac{r}{\varepsilon}) \rightarrow \varepsilon \sqrt{a a} + \frac{1}{r \sqrt{a a}} (\varepsilon a - r) = \varepsilon \sqrt{r a}$
(۳)

$f'(\frac{r}{\varepsilon}) \rightarrow -\varepsilon \sqrt{a a} + \frac{1}{r \sqrt{a a}} (-\varepsilon a + r) = -\varepsilon \sqrt{r a}$
(۲)

$r \sqrt{r a} - (-r \sqrt{r a}) \Rightarrow \sqrt{r a} = r \sqrt{4} \quad \text{پس } r a = 4 \quad \text{پس } a = \frac{1}{r}$
(۲)

$f(\varepsilon) + f'(\varepsilon) = -1 \rightarrow -\varepsilon a + r - a = -1 \quad -2a = -r \quad a = +\frac{r}{2}$
(۴)

$y = -\frac{r}{2} a + r \quad \xrightarrow{a = \varepsilon} \quad f'(\varepsilon) = -\frac{r}{2}$
(۲)

$\frac{a a - 1}{r a + 1} = \frac{a + 2}{v}$
(۱۵)

 $v a a - v = r a^2 + a + 1 \quad a a + 2$

$r a^2 + a + 1 = 0 \quad \Delta = 0 \quad r a^2 + 4 + \varepsilon a - r \varepsilon a - 1 \varepsilon \varepsilon = 0 \quad \rightarrow \begin{cases} a = \frac{r}{\varepsilon} \\ a = r \end{cases}$

$\varepsilon a a^2 - r \varepsilon a + 11 = 0 \rightarrow v a^2 - r r a + 14 = 0 \quad \frac{r r \pm \sqrt{4 v 4}}{2 v}$

$\frac{r r \pm \sqrt{4 v 4}}{2 v} \rightarrow \frac{1}{\varepsilon} \quad \frac{4}{1 \varepsilon} \rightarrow (r, \varepsilon) \quad x = \frac{-b}{2a} = \frac{-14 + 16}{4} \rightarrow \begin{cases} a = r \rightarrow x = r \quad \checkmark \\ a = \frac{r}{\varepsilon} \rightarrow x = -r \quad \times \end{cases}$

$$\rightarrow f'(r) = 0 \quad 2ar + a = 0 \xrightarrow{a=r} 1r + a = 0 \quad a = -1r \quad (9)$$

$$f(r) = 0 \rightarrow 1 + rx - 1r - b = 0 \quad b = -14 \quad b - a \rightarrow -14 + 1r = (-9) \quad (10)$$

$$f \Big|_a^r \rightarrow f^{-1} \Big|_r^a$$

$$\frac{\sqrt{a+1}}{\sqrt{a-1}} = r \quad r\sqrt{a-1} = \sqrt{a+1}$$

$$\sqrt{a} < r \rightarrow a = 9$$

$$\xrightarrow{f'(a)} \frac{\left(\frac{1}{r\sqrt{a}}\right)(\sqrt{a-1}) - \left(\frac{1}{r\sqrt{a}}\right)(\sqrt{a+1})}{(\sqrt{a-1})^2} \quad a=9 \rightarrow -\frac{1}{1r} \rightarrow f(a) = 0$$

$$-1r = f'(a) = 0$$

$$\rightarrow \begin{vmatrix} -1 & 0 \\ -1a+1 & 1 \end{vmatrix}$$

$$m = \frac{1 - (-1a+1)}{1} = \frac{1a-1}{1} = -11 \quad 1a = -1r \quad a = -\frac{r}{1}$$

$$f'(x) \xrightarrow{x=1} \frac{1}{x} \rightarrow \frac{1}{1} \rightarrow 1$$

$$a = -ra \rightarrow -rx - \frac{r}{1} = \frac{r}{1} \rightarrow f\left(\frac{r}{1}\right) \rightarrow \frac{r}{1} (a^r + 1) (ra) (a+1) + \left(-\frac{r}{1}\right) (a^r + 1)$$

$$\text{المعدل المتوسط} = \frac{f(1) - f(-1)}{1 - (-1)} = \frac{1 - (-1a+1)}{1} = \frac{1 - (-1a+1)}{1} = 1a - 1 = -11 \rightarrow \begin{cases} a = -\frac{1}{r} \\ x = 1 \end{cases}$$

$$\begin{vmatrix} \frac{\pi}{1} & \frac{\pi}{1} \\ 0 & 1 \end{vmatrix}$$

$$\xrightarrow{\frac{\pi}{1}} \sin \frac{\pi}{1} \cos \frac{\pi}{1} = 0$$

$$m = \frac{1}{\frac{1}{\frac{\pi}{1}}} = \frac{\pi}{1}$$

$$\xrightarrow{\frac{\pi}{1}} \sin \frac{\pi}{1} \cos \pi = 1$$

$$\sin^2 a - \cos^2 a \rightarrow (\sin^2 a - \cos^2 a) (\sin a + \cos a) \rightarrow (\sin a - \cos a) (\sin a + \cos a)$$

$$\frac{\pi}{1} \rightarrow \left(\sqrt{\frac{1}{1}} - \sqrt{\frac{1}{1}}\right) \left(\sqrt{\frac{1}{1}} + \sqrt{\frac{1}{1}}\right) = 0$$

$$\xrightarrow{\frac{\pi}{1}} m = \frac{1}{\frac{1}{\frac{\pi}{1}}} = \frac{\pi}{1} \rightarrow 1$$

$$\frac{\pi}{1} \rightarrow (1 - 0)(1 + 0) = 1$$

$$\lim_{a \rightarrow 0} \frac{\sin^n(a^r) \times n \sin^{n-1}(a^r) \times \cos(a^r) \times (r a^{r-1})}{(r \sin^r \frac{a}{r})^m} \xrightarrow{\text{Simp}} \lim_{a \rightarrow 0} \frac{(a^r)^n n (a^r)^{n-1} \times r a^{r-1}}{(r (\frac{a}{r})^r)^m} =$$

مولد

$$\lim_{a \rightarrow 0} \frac{r n a^{r(n-1)+r-1}}{(r (\frac{a}{r})^r)^m} = \lim_{a \rightarrow 0} \frac{r n a^{r n - r + r - 1}}{\frac{1}{r^m} a^{r m}} = \lim_{a \rightarrow 0} r^{m+1} n a^{r n - r m - 1} \rightarrow \text{بما أن } r n - r m - 1 < 0 \text{ فإن } a^{r n - r m - 1} \rightarrow 0$$

$$\begin{cases} r n - r m - 1 = 0 \rightarrow n = \frac{r m + 1}{r} \\ r^{m+1} n = r^m \sqrt{r} \end{cases} \rightarrow r^{m+1} \times \frac{r m + 1}{r} = r^m \sqrt{r} \rightarrow (r m + 1) r^m = r^m \sqrt{r} \rightarrow m = \frac{r}{r} \quad r m + n = 9$$